WASre:

Online

Parts Catalog - Option Detail

Option Group Graphic Film Card Date
PHgl 52- 05.06.1 ph962gy T 01-MAY-05

Engines

4B3.9, 6A3.4, 6B5.9, B GAS INTERNATIONAL CM556, B4.5, B4.5 CM2350 B129B, B4.5 CM2350 B146C, B4.5
CM2350 B147B, B4.5 RGT, B4.5S, B5.9 G, B5.9 GAS PLUS CM556, B5.9 LPG, B5.9 LPG PLUS CM556, B6.7 CM2350
B121B, B6.7 CM2350 B135B, B6.7 CM2350 B136C, B6.7 CM2350 B148B, B6.7 G CMOH6.0 B125, B6.7N CM2380
B150B, B6.7S, F3.8 CM2350 F120B, F3.8 CM2350 F128C, F3.8 CM2350 F132B, F3.8 F102, G3.9, G5.9, G5.9

CM558, ISB (CHRYSLER), ISB CM2150, ISB CM2150 E, ISB CM550, ISB CM850, ISB/ISD4.5 CM2150

B119, ISB/ISD4.5 CM2150 SN, ISB/ISD6.7 CM2150 B120, ISB/ISD6.7 CM2150 SN, ISB/ISD6.7 CM2880 B126, ISB3.9
CM2220 B107, ISB4.5 CM2150, ISB5.9G CM2180, ISB6.7 2010 DCX PICKUP, 1ISB6.7 2013 DCX CHASSIS

CAB, 1ISB6.7 CM2150 SQ, ISB6.7 CM2250, ISB6.7 CM2350 B101, ISB6.7 CM2350 B103, ISB6.7 CM2350 B142, ISB6.7
CM2670 B153B, 1SB6.7 G CM2180 B118, ISBE CM2150, ISBE CM800, ISBE2/ISBE3 CM850, ISBE4 CM850, ISD4.5
CM2150, ISD6.7 CM2880 D101, ISF2.8 CM2220, ISF2.8 CM2220 AN, ISF2.8 CM2220 EC, ISF2.8 CM2220

ECF2, ISF2.8 CM2220 F101, ISF2.8 CM2220 F117, ISF2.8 CM2220 F122, ISF2.8 CM2220 F126, ISF2.8 CM2220
F129, ISF2.8 CM2220 IAN, ISF3.8 CM2220, ISF3.8 CM2220 AN, ISF3.8 CM2220 F103, ISF3.8 CM2220 F110, ISF3.8
CM2220 F116, ISF3.8 CM2220 F134B, ISF3.8 CM2220 IAN, ISF3.8 CM2350 F109, ISF4.5 CM2220 F123, ISG11
CM2880 G106, ISG11 CM2880 G108, ISG12 CM2880 G107, ISG12 CM2880 G109, ISG12 G CMOH6.0 G111, QSB3.9
30 CM550, QSB3.9 CM2880 B138, QSB4.5 30 CM550, QSB4.5 CM2150 B108, QSB4.5 CM2250 B131, QSB4.5
CM2250 EC, QSB4.5 CM2350 B106, QSB4.5 CM2350 B122



https://qsservices.cummins.com/qshd/feedback.php?productid=1

SERVICE PARTS

pha62gy

SMALL | MEDIUM | LARGE

View My Cart

PH9152-01 Engine Control Module Engine Control Module...(More)

Engine Control System: E2 |

ECM version: CM850 a26

Module location (mm): 12

Ambient air pressure sensor

Included: No

Intake manifold temp sensor

Manufacturer: Motorola

1 68425 Clip 2



javascript:swap_img('ph962gy','/rtgraphics/english/parts/ph/9/ph962gy_sm.png');
javascript:swap_img('ph962gy','/rtgraphics/english/parts/ph/9/ph962gy_md.png');
javascript:swap_img('ph962gy','/rtgraphics/english/parts/ph/9/ph962gy_lg.png');

2 3900589 Hexagon Flange Nut M8 X 1.25

3 3900629 Hexagon Flange Head Cap Screw M8 X 1.25 X 16

4 3906216 Hexagon Flange Nut M6 X 1.00.
3977299 Wiring Harness

5 3900240 Regular Hexagon Nut M8 X 1.25.

6 3925883 Hexagon Flange Head Cap Screw M8 X 1.25 X 16

7 3973699 Electrical Connector Bracket

8 3975079 Wiring Harness

9 4019917 Instruction Tag

10 4921776 Electronic Control Module Recon Equiv. 4921776 RX/NX.

11 4929301 Electronic Interface Module

12 4929303 Instruction Tag

13 4903016 Fluid Level Sensor Coolant



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

